x—=7

=Ax+B 4 W, A-B 9| F2?

® 4 @ 5

W =



2. (3x-4)-(x+3) 2 7tHs] 5HAH?

D 2x-1 @ 2x+1 B 2x-12



2] (2x + 3y + 1) = (2x + y - 3) & 7hHs] sh?

@ 2x+2y-3 @ 2x+2y+1 ® 2x 1 4

@ 2y +4 ® -3



6x2—9x_x2—8x—4
3x 2

4. =ax® 4+ bx+ ¢ A ab - ¢ 9] ZF& F5HH?



Al (Tx% = 5x 4 6) — (3x% — 2x + 4) S 7+H5] 5147

@ 4x2-3x+2 @ 4x2-3x+10 @ 4x>-Tx-2

@ 4x? -Tx+2 ® 4x2 —7x+ 10



1
2

1+|:]:a2—za+

7

1
- -a

+

3

2

3

—a
5)

Yol l o +
I S
In (]

oo T [

I +

(o} (o]
S ]

™M O [0
Q0 @

10 | T 1=
Lo+ 0 | =
N S _a

57H1"63,4
(S +
™ S ~
S o -

aho | omho
©@ © ©



7.

243% =+ 81" = 273 A o}, n 9] FLL?

@1 @ 2 ® 3



(82)0 + (<02 = 2 P+ ()2 =
y

T2 W, g+ b+ c Y GF2?

O 3 @ 6 ® 9



@ 2 ® 3 @ 4 ® 5

D1



10. o= 4] gh= 7shi?

x%yz — 2xy + xy%z

xyz

1
o= o
(v =

DN | =

Lo =




11.

a=19 ", 2a(5a - 3) — 4a(3a - 2) 2| F2?

@ o @1 ® 2 @ 3



1
12. x= 3 V= 3 4 o 3xy(x —y) — (4xy% — 4x3y?) + 2xy O] GF2?

0% o2 of o-F o

35
3 3 3



